
Mobile Fold Away Bookcase

Code: MFAB

Philips Screwdriver

Allen Key (supplied)

Familiarise yourself 
with the contents
Check there is nothing 
missing
Check you have all the 
tools required
Make room to assemble 
the product

Check List

Tools



Confirmat Screws			   24

Castor- Lockable			   4

			 

Castor- Freewheel			   4	

		

1/2 x 8 Screw			   32	

		

Allen Key			   1

Buffer Pads			   2

Piano Hinge			   1

Striker Plate			   1

5/8 x 4 Screw			   32

Complete Lock Hooked Plate			   1

30mm x 6mm Dowel			   16

Glue	

		

Components	 Quantity



Panels	 Quantity	 Size (mm)

	

	 4				    945 x 300mm

	 4				    600 x 300mm

	 4				    569 x 282mm

	 2				    569 x 945mm

Top/Bottom

End

Shelf

Back



Step 1

Step 2

4 x Shelf

1. Push dowels into holes. Tap down to bottom of hole.

1. Secure 4 Castors to bottom 
using 1/2 x 8 screws into ‘POP’ 
marks (lockable castor to front 
or rear).

2 x Bottom



Step 3

1. Secure striker plate to shelf with 5/8 x 4 screws.

5/8 x 4 Screws

‘POP marks’ already in shelf.



Step 4

Striker plate POP marks on the 
ends for hinge

POP marks on the 
ends for hinge

1. Secure bottom E to ends A&B with (4) confirmat screws.
2. Position shelves F into dowel holes.

3. Secure Top D to ends A&B with (4) 
confirmat screws.
4. Repeat using ends B&C.



Step 5

1. Stand unit upright, or lay face down if you prefer.
2. Secure back Panel G with (4) confirmat screws to ends. 
Slacken top/bottom screws if necessary.



Step 6

1. Position units as shown. Fit Piano hinge 
to ends B using (30) 5/8 x 4 screws.

Piano hinge

 5/8 x 4 screws

POP marks



1. Remove screw and washer 
from key barrel (do not remove 
key) Insert barrel through hole 
in End C and secure with nut   
(ensure key is in the vertical  
position before tightening nut 
with spanner).
Position plate onto barrel as 
shown and secure with washer 
and screw.

2. Stick buffer pads (2) on Top D 
and Bottom E.

Step 7

LOCK CATCH PLATE

Buffer Pad D

Buffer Pad E

YOUR UNIT IS NOW COMPLETE, SHOULD YOU COME ACROSS ANY ISSUES 
PLEASE CALL THE HELPLINE BELOW


